Year 10 Summer Work Set 2
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Calculate the value of x and y
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Solve the simultaneous

equations
2x+y=3 x+y=1
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QUESTION 1

QUESTION 2

QUESTION 3

Complete the table of values for
= 2x% — x and plot the graph

x |2 1110 |1 ]2 |3

y

Calculate x
Give your answer correct to 1d.p.

Find the nth term of
6,9,12,15,18, ......

; 13 cm
[T 10 cm
r X What is the value of the 50™
+ ?
term?
+ 4 1 IEY
QUESTION 4 QUESTION 5 QUESTION 6
Calculate x Calculate the value of xand y | Solve the simultaneous
Give your answer correct to 1d.p. ‘ equations
x+4y=5 2x+5y=4

15 cm,
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Expand and simplify
5(a —2b) —3(a—b)
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Calculate the circumference
Give you answer correctto 1 d.p.
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Enlarge the triangle with
centre (0,0) and scale factor 2

10
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Expand and simplify
x+3)(x+5
(x+3)(x+5)
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Complete the table of values for
= 2x + 1 and plot the graph
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QUESTION 1

QUESTION 2

QUESTION 3

Calculate the circumference

Expand and simplify

Give your answer correct to 1d.p. 3(a+2b) —2(a—b)
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QUESTION 4 QUESTION 5 QUESTION 6
Enlarge the triangle with centre | Expand and simplify Complete the table of values for
C and scale factor 2 (x=3)(x+4) = x +1and plot the graph
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Calculate the volume

5cm

radius = 4.5 cm

Answer correct to 2 decimal places
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Simplity
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Calculate an estimate ot the
mean height.

Height f e [mpsF
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Describe the single transtormation
which maps triangle A onto triangle B
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Calculate x
Give your answer correctto 1d.p.
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The table shows the probability of
picking different colour pins from a

box

Colour

Red

Green

Blue

Pink

Probability

Calculate the probability of
picking Green
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Calculate the probability of

picking Red or Pink
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QUESTION 1 QUESTION 2 QUESTION 3
Calculate an estimate of the Simplify Calculate the volume of the
mean weight. 4a® x b® cylinder

2ab? [

Weight (g)

0<sw<20

20 <w< 40

Slw|n |-

40 <w< 60

60<w<80 |10

80<w<100 |18

Simplify  (2x%y*)*

10 cm

Radius = 4 cm
(Answer correctto 1d.p.)

QUESTION 4

QUESTION 5

QUESTION 6

Calculate x

Give your answer correct to 1 d.p.

X

12cm

Describe fully the single
transformation that maps triangle A
onto triangle B

The table shows the probability of
picking 4 different types of cards

Card AlBslclo
Probability | 5 | 1 1
2]l6 |~ |3

Calculate the probability of
picking a card C

Calculate the probability of not
picking a card B
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Describe fully the single
transformation that maps triangle

A ont)o triangle B
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Express 120 as the product of
prime factors
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Calculate 15% of £420

10%0 - 4142
O%lo=421

1% =763

Increase £320 by 10%

0% = £32

320+ 32
=$352 E
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Mass=30¢g

Density = 6 g/cm?

Volume = ? cm?
D=m

6
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v
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Out of 40 people surveyed, 26 have a brother,
25 have a sister and 5 have neither a brother or
sister. Complete the Venn Diagrams to show the
information. How many of the people survey
have a brother and a sister?

£-40
s 8
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Translate the shaded figure [—2]
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QUESTION 1

QUESTION 2

QUESTION 3

Calculate 30% of £520

Decrease £180 by 10%

Describe fully the single
transformation that maps shape
Aonto shape B

123 4 5 6 7 8

Express 72 as the product of
prime factors

QUESTION 4

QUESTION 5

QUESTION 6

Translate triangle A by vector
(}1) Label the new triangle B

60 students were asked about the
sport they played

9 played no sport

34 played football

28 played cricket

Record the information in the Venn
diagram

How many students played both
football and cricket?

Ablock has a mass of 400g
and a volume of 50 cm?
Calculate the density of the
block.
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Solve the inequality
S5x -2<x+4
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Calculate the mean
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3
Express - as a percentage
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Draw the plan and side elevation
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QUESTION 1

QUESTION 3

17
Express 5-as a percentage

There are red and green pins in a
bag. £ of the pins are green. Write

down the ratio of red to green
pins.

QUESTION 2
Calculate the mean

x f

0 5

1 9

2 12

3 17

4 7

What is the median value?

Solve the inequality
7x+3=3x+19

QUESTION 4

QUESTION 5

QUESTION 6

Estimate the age of a seedling with a height

The graph shows heights of seedlings and
of 18 cm

age
Describe the correlat

Draw the front and side
elevations

®
Side Front

Express in standard form
307000000
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Calculate xand y
Give your answers correctto 1 d.p.
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A recipe for 8 cakes uses 150g of

sugar. If Molly has 405g of sugar,
how many cakes can she make?
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If the exchange rate is
£1=9125
Work out the missing values

a) £500 =$.6, 40

30.50 - 1.25< 4ou.uc
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Work out
a) 2.25 (answer correctto 2 d.p.)

5153632
= 5).54
b) 67% of £45.00
0 .63 %03
=130.19
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QUESTION 1

QUESTION 2

QUESTION 3

Write @, b and ¢ as column
vectors

Calculate x
Give your answer to the nearest degree

Estimate

19.52%2 — 3855 + 2.22

15 cm
x
12 cm
QUESTION 4 QUESTION 5 QUESTION 6
A recipe for 12 cupcakes uses If the exchange rate is Work out correct to 1 d.p.
150g of sugar. Alex uses 250g of £1=€1.10 a) sin(30°) + cos(40°%)

sugar when he makes the recipe.
How many cupcakes does he
make?

Work out the missing values

a) £420 =€.....

b) €35.20=£ .

45-8.22
45-125
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Calculate x
Give your answer correctto 1 d.p.
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Complete the table of values for

= x? — 1 and plot the graph
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Calculate x
Give your answer to the nearest degree

15 cm

H






Year 10 


Summer 


Work


 


Set 2


 


 


 




Year 10  Summer  Work   Set 2      

